V=048 TRV SRR RS (2008, 3)

gooobbodgRrCOUOOOoOoobDboODbDOOd

gboooobgno oO0obog goo oo OO
oooobo@)ocobooo god oo oo
oooobooo bOobooo oogon oo oo

1. 0000
RCUODOOOOOODOOOOOOOOLOOOUODOOOOUOOODLOUObOOOOObDUObOODODODUDbUObObOODO
gobodobbooboooboboooboooboobboooboobboobbobboobboooboooDo
0oO0Y00001sydld030000000000RCOOO0NONONODOOODDDOO0O0000OOOOOO
gobodbbooboobobooobooobooboooboobboooboobbooboooboooDoon
goboRrRCOODDODOO0ODODOODOODOODOODOOODOODOODODOODOODbDOODbOODbOODOOD
020000000000000000000000000000000=18y000000000000000
gboooboboooboooboboboobuoobooobobooooboon

D000000D000000000000000000000000  _0o0__ D%T
00000000000000000000000000000000 28 4086-334 s

e}
N

gbooboobooboboboboboobuoooboooobooboon

00000M0O000000000000000000000000 5__ :J8§
RCOOODODO000O0OOOOOONODOOOO0OOOOOONOOOooon “f

2.0000 & o

(1) DOOOO Sl Oooooo
0000 400mmx 400mmO 0000000000000 256m00 il E%%;
000000000001 0000000001 000000000 gﬁﬁﬁi¥§%

SD295D13-50 00000 SD295D6 0000 60mmO 0000000 o
00000000000 0426%000000 0528%0 0000000 — ggi
000000000000 000000M0O0000000000n @ vgf

000000000000000000000000000000 2 ﬁﬂﬁﬁ& QﬁDDDDD

00000000D040000000000000000000000

alals 001 000000000mmO

(2 00000000000
0020000000000000000 PCOOD0OOOOOOO
00000000000000000000000000000000
00000000000000000000000000000000
0000000 300000000000000000000000
00000000000040000000000000000000
15mmO0000000000000000000000000000
000000000000000000000000
3.0000
0030000000000000000000000000000
000000000040100000000000000000000

4.,_
|
!

000 0O

=

obz2 0000

-809-



V-048 TARFEWEE SRR S (2008. 3)
O01 O0O0O0oOod
B>=<D f'c Ec pt pw n
(mm> mm) (N/mm?) (kN/mm?) (%) )
No.1 400400 | D13 5 D6@60><2 53.5 35.8 0.426 0.528 0
No.2 47.8 3.7 0.126
No.3 D13 3 54.5 35.0 0
No.4 D13 3 48.9 33.1 0.123
00 000000 p=A/(B-d) g0O0DO ac000000 NO OO
ooogg d p,=A,/(Bcc) pOODOOD AD0D00O00O0O0OOOO c,000000D00000
0ooo 0 7=N/(c,-B-D) 400000 ADODOOODOO

goboooooboogooboo

goobooooobobooooboobo
goboobooobooooboobo
gob00ONolAD30ODOOODODOO
gobooooobooogobobooo
ONo2MMIOOOOO0ODbOOoOoDbO

0 0 PO kNO

0 0O POKNO

PCOOODDOOODOOODO0 T
0000000000000000

"—2200 -100 0

100

goooooboboooobbooo
OO0O0DooOoOoOooo 8 ydono
gooboboobooobooobobo
ooooooboboogobobooo
gooboobooo400000000

00 POKNO

0 O POKNO

000000000000 oOoo 36100 0565

0 100

00000006 OmmO

oo03 ooooooo

oooobooobooobogoobo
gooooooboogooboo
gopboobbooboboobbooboooboon
oobooobobooboboobobooboooboon
goboobobooboboobbooboooboon
gopboobbooboboobbooboooboon
goooog yOoooooOoDOOoOoOOoDOoObOO
4. OO0
goboobogooboobooboobbooobo
oobob0o0 RCOODOODOODOODOODODOO
gobogoboboobboobbooboooboon
gopboobboobboobbooboooboon
ooboobobooboboobobooboooboon
goboobooboobobooboonboo
gooo

1) 000000000000000000000000000000H100019990

150

100

-100 0
ooooooos OmmO

200

00 POKNO
o

-50

-100

oodoodoooooooooo
: ; . . !
100f--

2N B

__________________

P S S

18%

-100

0o00o0o0o00sé OmmO

ugb4 00O

2) ODO00O0OOOO0O0OOCOOO00DORCOODODOOOOODDOOODOOOODOOODOOOODDOOOODOGSeOODO

0000 0V-3710 pp.742-7430 2001.100

-810-



